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Why was he Moh’al; - 7702Y 7275 7IBR PR N2 ByR INBAR
let us say there is no agent regarding a sinful matter

Overview

The X713 challenges the ruling of 77°2y 1277 m°%w X from a Xn»12 regarding 7777, !
The rule there is that one who did his m°%w properly and it turned out that he used
w7pi illegally, the one who sent him (the 2"7v2) is liable for 7%°v», and we do not
say 77172y 7272 1w 1PX.2 Our Moo discusses the s'8 13 question.

nvoIN asks:
- S5 NP PRT NYIYN XYY 11 INT 3AIWA 5951 T3 Y KD 119D

It is astounding! For perforce that by 112°v»,we are discussing a case of 2w, for if

it is a case of 71, there is no 72°yn 2n, since there is no 7%°¥» 21’1 by 7917 -
- SDOYMIY M 5927 TN 2937 291 5927 9915 TV XYY 1923y 1379 NYYY W )3 DN

Therefore (since it is only 2 w2) there is a ¥"' 75w, for by »W it is inapplicable to
say; ‘the words of the master, and the words of the student; whose words do we

listen to’; it is not applicable -
=Y NIV %2

Since the 5w is a aanw!

Moo proves his point that when the 5w is a 2w there is 772y 92772 MMLw:
= 9197 I N9V AW 290 MNRDT (09 97 80 x23) DAV PIDA YNRUNM 2133 5977

For this is also how it seems in 77219% P95, where the miwn states, if one stole a

sheep from the flock; he stole it -
= 1950 DY NYVA I RN 192 79193D 199D 19N IN YIY NINY NT AYV D1V )NDY 91N

By saying to (a 372) [his creditor] take this sheep as payment for it is mine, or he

'If one derives unauthorized benefit from wpn inadvertently he is liable for 77°vn. This requires him to return to WP
the amount taken (or benefitted) plus a fourth (fifth). In addition he must bring an n>°>v» owx for a 127p.

2 The X3 answers that we derive from 7170 that by 79°vn there is 772y 1272 MW,

3 This means that in both cases (where the 2v» m5w, or where 2y» 2"7v3) the MW and the 2"77y2 were unaware that he
is wIpna Hyn.

4 Regarding 72°vn the 770 (in 10,7 Xp*Y) writes explicitly, 131 MWR IR R2M 7 OWTPR A2 ARLM V72 91wnn ° wol.

5 The X3 just explained the reason there is no ¥"79w, since we say to the 5w, you cannot cast the blame on the one
who made you a ¥"75w, since you should not have listened to him (the 72%n) but rather listen to the master (aw;1) who
prohibited you from doing this act. Therefore the 1°9w is 21 and the n%wn is Mws. However when the M5 is unaware
that he is doing an 772y, we cannot say to him why did you listen to the n%wn, since the m%w thought he is doing
nothing wrong, therefore the regular rule of nm%w should apply and the m5w should be 715 and the n>wn should be
27, since the 77w was merely an agent of the mown and doing it on his behalf. See ‘Thinking it over’ ! & 2.

¢ The n"a7 M1 amends this to read, 70 1210 2¥2% X7 (instead of 210 1792 RY).
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gave it to a 372, as payment for his firstborn son, but he actually pointed to his

friend’s sheep (he misled them to take someone else’s sheep to pay for his debt) —
= 711591 HIPYNI 2)N 2NN DY NIVIN 1NN INININY TINT PIOM

And the 7wn concludes that as soon as the 377> removed the sheep from the
domain of the real owner, the thief (the one who misled the 7715 to take another’s

sheep) is liable when the 372 pulled it out of the owner’s domain. This concludes the citation

of the mawn there. NdOIN continues -
= 911952y 93499 NYHY 1PN N1I 2301 2990 INNIN F0NN PNYY 13229 NYPM

So the >'' asked there, why is the thief liable, let us say ¥"7owx?!
- 1015459)W 313 5927 91935 T9W NY N2 XA NINY Y797 1197 PRY 113 XM

And the >"1 answered there that since the 375 does not know that this sheep is
coming to him from a robbery, it is inapplicable to say P y»w 57 5927.

In summation; Mdon asks that the rule of ¥"79wx should not apply where the m°%w is a 2 (since
we cannot apply 1PYmIw 1 127 71707 *127 277 °127), and since by 19°vn, by definition, the 17w is
a M therefore it is understood why by 7%°¥n there is ¥"72 mmow; what is the s'R 3 question?!

NID0IN answers:
= 5520 Y¥a HYNT 9MINRP LAHYTYN 99137 199N 999919 NXONT PN 13929 9IIN)

And the "7 answered that here we are discussing a case even where the mbw

remembered that he was using w1pn, nevertheless the rule is that ®p» 2'"'wa -
- 1953 9299 NYYY PN NI YP0 SNNAN 099 XNNIYN)

So now we understand what the X713 asks, why is the H¥» 2"7v2 let us say " 79wN -
- 2059730 91 5924 NN 2927 291 9274

For who do we listen to; the words of the master or the words of the student?!

NN goes on to prove that even when 7w 7511, nevertheless %vn 2"7va:
- (yxa 1 D9OPHA NANITI %3N P YN NYHYN 99137 23 YY IN)

And even though the m%2 remembered that it is w7p77, nevertheless Y% 2''17v32 as
is evident in 579%» noon -

7 The 172 is not liable (even though he was the one who actually removed the sheep), but rather the one who misled
the 375 and told him to take the sheep, he is the thief and he is liable.

8 See 1101 77"7 '0In R,LY "2 (it does not mention there that the >"1 asked this question).

% The 213 did not steal anything; the 371> stole it as a 5w (on the say so) of the 213. The 371> should be liable since ¥"77wx!
19 In such a case where the M9 is unaware that he is committing an 772y, we say ¥"T9w @, since the logic of 727
YW 7 *727 7PN 1271 277 s not applicable. The same should be here by 72°va. What is the s'8773 question?!

" The 2"nva however was unaware the whole time that he asked the m7w to use wTpi property; otherwise there can
be no 72°¥n 217, since the 72°¥n 211 is only A3 (see footnote # 4).

12 The m%w was aware that he is using wpn property illegally.
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= DY 9N DIV 1951 Ly NYHYN NDY 991 KDY N%aN Hya 991 and
For it says there in a Xn»93, if the 2"7¥2 remembered and the m°%w did not

remember, the m5w is p», if they both remembered, the storekeeper is Hy» -
= 15451 ROW IMN Dy1) 79990 1455 Wr9979 MW NIN 19X NDIYNT 29D DyLvN

And the reason is because 7>°y» can only be »w2 as I explained, therefore

whoever does not remember he is 5y» -
= NI o1 1699TIV 1IN

And whoever remembered is a 7% and cannot be 79°y»2 2n -
159 75pan Hya 1ab NYYYWN 991 ON NN DIV 1991 ON P17 DIPNI Yan

Nevertheless the %yn 1117 is only specifically of both the 2"nva and the mbw
remembered; however if only the 792 remembered then b¥» 3'"7wa.

Summary
If the %W is unaware we say ¥"77Ww v°; the 2"nva is Hvn when the m°%w is aware.

Thinking it over
1. mooIn states that when the m%w is unaware that he is transgressing, we say ©°

72y 1277 9w, '® The Xna states that by 11792 7° MW there is ¥"77w (according
to 1"2).!” However perhaps the case of ¥"72 m>w by 7> mmow is where the 7w was
unaware that he is 7 17w and therefore ¥"79w v, but not where he is unaware. The
question is that we do not have the X2 0°%27 22112 W?!%°

2. Can we say that the rationale for ¥"72WX is because?®! the mown can claim, ‘I was
sure that the m%w would not listen to me since ¥ °» *M27 71707 *7271 2777 277222

13 The case there is where the 2"7v2a gave the m°9w money of w7pi to buy something in a store. If the 2"7v2 remembered
that it is WP NWwn before the purchase was made, but the 2w was unaware, then 2¥» 9w (since he spent Wpa nwn
mw32). However if both the 2"y and the m%w knew that it was w7pn myn (before the purchase) then the *1111 is Sy
when he spends the money (for anything).

14 See footnote # 4.

15 This refers to the MW if 2"7ya 7211 or to the *1n if 8773w 1757 (the 5w and the 2"7y2).

16 This refers either to the 2"7wa (if 2"nva 1511 alone) or to the 2w 2"Ava (if an7aw 11on0).

17 This does not say explicitly in the Xn>3, rather m9o1n derives it from the fact that the *11n is 9¥» only when both
the 2"nv2 and the MW are aware, however when only the %W is aware then 9¥» 2", [The 72°vn takes place the first
opportunity when it left 23w2a wpn nwA.]

18 See footnote # 5.

19 Therefore we cannot derive from 77%°vn that ¥"72 5w w°, since 7> MTHWY 7979 are 7Ta%7 PRI INKD 0°X37 0°2100 "W,
20 See 71K KW,

2! Not like the explanation offered in footnote # 5.

22 See “XW 71"7 XA AW NOMA.
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